
Calendar Answers

1. 18
2. 2, 4, 6, 8, 10

Any two even numbers (ending 
in: 0, 2, 4, 6, 8)

3. 

30p 4. 

5 / 6. Two packets will have 20 
crayons (2 x 10), Three packets
 will have 30 crayons (3 x 10)

7. 9 + 4 = 13

8 . 11 - 4 = 7

9 . 5 sweets each (15 divided by 3)

10 . Drawing of a rectangle 

11 . 6 cakes

18. 400 (300 + 100)

19 . A giraffe 
20 . 10

21 . Any two from: 5p, 10p, 20p, 50p, £1, £2

22. 5, 10, 15, 20, 25, 30, 35

23. £8

24. 15

25. 8 ( 4 + 2 + 2)

26 . 8

13 . Any two odd numbers ( ending 
in 1, 3, 5, 7, 9)

14 . 2, 4, 7, 11

12. 7

29. 17, 15

30. 14 - 0 = 14
31. 18

28. 7 + 5 = 12

27. 15p

15 . 3 slices each

16. 12

17. A rectangle is a 4-sided shape


